6.3B Notes Definite Integrals Using Antiderivatives

1. Consider a particle with velocity given by the function V(t) =5+ 4t . Find the position function
S(t) and the displacement (change in position) from t=0tot= 10.
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2. Now, graph V(t) =5+ 4t and find J.V(t) dt .
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3. How is the displacement found in part 1 related to jv(t) dt found in part 2?
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4. How is the position function related to the velocity function?
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CONCLUSION:

For any function f (t),

Examples:

I f(t)dt =F(x)-F(a), where F(x) =the antiderivativeof f(x).

Evaluate the integrals below using antiderivatives and the information above. Check your

answers using fnint on your calculator.
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